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.. it will be appropriate to maintain this target range until labor market conditions have reached
levels consistent with the Committee's assessments of maximum employment and inflation has
risen to 2 percent and is on track to moderately exceed 2 percent for some time.

The Governinge1 Council expects the key ECB interest rates to remain at their present or lower
a

ECB levels until it has seen the inflation outlook robustly converge to a level sufficiently close to, but
below, 2% ...

The Committee does not intend to tighten monetary policy until there is clear evidence that
BOE significant pro%ress is being made in eliminating spare capacity and achieving the 2% inflation

re
M

target sustainably.
BOJ and also it expects short- and long-term policy interest rates to remain at their present or
lower levels.
For its part, the Board will not increase the cash rate until actual inflation is sustainably within
RBA the 2 to 3 per cent target range. .. Given the outlook, the Board is not expecting to increase

the cash rate for at least three years.
e 243 FYLH
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